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Trigonometric Ratios
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, _ opposite _adjacent __opposite
sin(6) = hypotenuse cos(0) = hypotenuse tan(6) = adjacent
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If we are given a point, P(x,y), we
will have 2 of the three distances
that we need to know. We will still L 7
need to figure out the distance to

the origin,r. The pythagorean =
theorem will help us here.
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In Quadrant 1(Q1) the angle (Y) and the reference angle (¢:) are the
same. For any other quadrant you will use the reference angle to
determine the value of the trigonometric ratio then you will need to
use logic (or memorization) to determine the sign of the angle.

Let’'s do one in each quadrant.

Find the sine, cosine,and tangent for ¢ in each graph.
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https://www.codecogs.com/eqnedit.php?latex=(%255Ctheta)%250
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Point, P(-8,15) lies on the terminal arm of an angle 6, in standard
position.-Determine the exact trig ratios for sin(0), cos(0), and tan(0),
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https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=sin(%255Ctheta)%252C%2520cos(%255Ctheta)%252C%2520%255Ctext%257B%2520and%2520%257D%2520tan(%255Ctheta)%250
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The point, P(-5,-12) lies on the terminal arm of an angle ¢ in standard

position. Determine the exact trigonometric ratios for
sin(0), cos(0), and tan(0),
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Determine the exact value of cos(135°),
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https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=sin(%255Ctheta)%252C%2520cos(%255Ctheta)%252C%2520%255Ctext%257B%2520and%2520%257D%2520tan(%255Ctheta)%250
https://www.codecogs.com/eqnedit.php?latex=cos(135%255Cdegree)%250

Suppose ¢ is an angle in standard position with terminal arm in Q3,

and cos(0) = 5. What are the exact values of sin(0), cos(0), and tan(0)?
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Determine the trig ratios for: (#1{00\ <f/ d
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2,3,5,9,11,14,20


https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=cos(%255Ctheta)%2520%253D%2520-%255Cfrac%252035%250
https://www.codecogs.com/eqnedit.php?latex=sin(%255Ctheta)%252C%2520cos(%255Ctheta)%252C%2520%255Ctext%257B%2520and%2520%257Dtan(%255Ctheta)%250
https://www.codecogs.com/eqnedit.php?latex=%255CLARGE%2520%255Ctheta%253D90%255Cdegree%250
https://www.codecogs.com/eqnedit.php?latex=%255CLARGE%2520%255Ctheta%253D180%255Cdegree%250
https://www.codecogs.com/eqnedit.php?latex=%255CLARGE%2520%255Ctheta%253D270%255Cdegree%250
https://www.codecogs.com/eqnedit.php?latex=%255CLARGE%2520%255Ctheta%253D360%255Cdegree%250

